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f@=1-
fx)=0

= kHHmm..

N
S’

27) f(x) = _m_ ,X €E[-1,1] erép sni9p®
Cyrdice Cpppheng et LLALOSS
WPrwng aauaps sraws.

1

[-1,1]-& f(x) Qgrijsfuneagy de

Cyrelier Cpppseay LLELRSS PRUTH

28) f(x) = tanx,x € [0, ] ereup FnN P
Cyrdick Cppppeng g LwWaLBSS
PG TEUMSE STaNS.

\Amv = nazm.h oo

[0, 7]-& f(x) Qpripbfunarg oo

T

Crrller Capppdems LwELRSSs YPrwng

29) f(x) =x—x*,1<x <2 eeap P
(1,2) eréap @en Qaeldld syrefl wHOY
Cgpppens Pepe Qelyd wHlmud
asrcdrs.

[1,2]-& f(x) Qgmgéfuneagy
(1,2)-a f(x) amsl_sgsay

f(1)=0 & f(2) = -2
QuégrggAddn Gapppemp LUdUBSpoId.

flx)=1-2x
\.shkv — \mNuIHﬂuu

2-1

= x=2€(1,2)
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30) f(x) = (x = 2)(x — 7) ,x € [3,11] eap
smnipe Qeirssftida sprefl wHLY Cappdap
vwauBs S QaréstiulL. e Qaaitd
peaiyddsd aiCu Qraogid prepds
faarurar AsrRCariydér QAsrhuw Ydreflulcr
-y srars.

[3,11]-& f(x) Qgm_réfwurearg
(3,11)-& f(x) amstL&zs55
f(3) =—4 & f(11) = 36

Qo&prgsfuidr Capppeang LUGUBSSOTLD.

f(x)=x*—9x+ 14

fl(x)=2x—9

(11)—f(3) _ 36+4 _

11-3 8 5

2x-9="L

= x=7€(3,11)

31) f(x) = ** xe [-1,2] erérp s

x

Qar@ésiur L e Qauciudd Qo&pgsAuilen

sgrsfl LHOY Czppseng gt LLHLBSS
PRUTG TaUuMNBs dlarsms.

1
\.HSHNHS

[—1,2]-0 f(x) Qsm_jféfunrergy e

Qoirgsfier syrsfl AU Csppias
vwEuGEs oWy

32) f(x)=13x+1]|,x € [-1,3] ereup
srnipe Qasr@sstiulL. e Qacfide
Qeoéresfier sprefl ALY Cappieng Fen
| buEURSS WPYWrG TFUpE dasgs.

x= Iwm & f(x) amslLjpissy oo

Qeéresfden syrsfl wHUY Cappsias
UWSUBSS WiRwrgl

33) & &::w_b_a.i Quacnrfiér dAlfleneusd

f(x)=¢e* =1f(0)=1
flx)=e* =f1(0)=1
fllx)=e* = f11(0)=1

n.HHuhunu - Nk Y mHuﬁﬁcu =1

£1(0) f11(0)
£(0 = £(0) + ——+—5— + -
2 Nu
eE=14+—+—+—+-

34) sinx -snn9ew Quionrfiér dflenaid
SrGws.

f(x) =sinx = f(0)=0
fl(x) =cosx = f1(0)=1
fll(x) = —sinx = f11(0) =0

f111(x) = —cosx = f111(0) = —1

f*(x) =sinx = f*(0) =0
fS(x) = cosx = f5(0) =1
f1(0) f11(0)
TR TR
x3 x°
m;kﬂnlﬂ.*ml.:

f(x) = £(0) +

35) cosx -smnSér Quiorflear dflencud
aSnNaws.

f(x) =cosx =f(0)=1
f1(x) = —sinx = f1(0) =0
f11(x) = —cosx = f11(0) = -1

f111(x) = sinx = f111(0) =0

f¥(x) = cosx = f*(0) =1

f1(0) f1(0)
f(x) = f(0) + T + 21 s Ao
x* x*
COSX = _.INI_+M_.I:
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36) cos’x -srn9er Quisorfier dflenausd

f(x) = cos?’x = f(0) =1
f1(x) = =sin2x = f1(0)=0

f4(x) = 8cos2x => f4(0) =8

£1(0) | f11(0
f(x) = £(0) + Hﬁ._v+ Nmu+..

& wuwpp cplysd aay sraas.

| =
fll(x) = —sinx = f11 mv -5

srars. f11(x) = —2cos2x = f11(0) = —2 x*
PP 11170y cos?x=1-x2+_-—-
f111(x) = 4sin2x =" 0) =0 3
1
() =+ = £(2) = =
H O _utewResr aNflay
37) : ~enpSer Quiofics dAfinaus P =0 =M@ =7 (60 = f(a) +1@ PN e G PRI
=2 -0 WPssd wearmy WEAWLDD 2 1 1! 2!
e gliysdr ey sSTaErs. flix) = == f11(2) = vy 1 1 (x-2) (x—2)3?
111 =6 111 -3 x"27 e e
f1lix) = = = f12) = ﬂ
f(x) = sinx = f A L ﬂ QO wiewdeir aNfiay
38) sinx nfer Quu - ; 1 11
hugirex: exbiler Qtiofidr lfmad 100 = cosx =11 (T) =L (00 = f@) + 2z —a)+ SR )2 +
X — - SPsesans W3O gpeapl 2 a\M 2!

2=RH)M.|T+H.ARIh N.Akllv IE

39) f(x) = x% —3x+ 2 -ereap f)=22—3x+2 =f(A)=0 O dteficir ol flay
: oo . g . 1 11
uvogpuyé Carenauullenr GLwifieh flx) =2x—3 = F1(1) = -1 00 = f(a) + f mmu (x—a) + fli@) (x—a)? +
diflas x — 1 -t JPésGsams PP 1) = 2 o f11(1) = 2 2!
wearp YéAuwpp e plrilsdr ey sSraws. - : . f(x) = InH -1+ (x—1)2
= x2—3x+2 2x—3
HmE=222 = 0 g aub lim ——— = lim>——
x2-3x+2 x—1x%-4x+3 0 x-1x%2 —4x+3 x-12x—4
gv ﬁ'*b@l. :E.lnll
x-1 x°—4x+3 Comigrdidr dfawu LwaLBSHS _-1_1
-2 2
sin mx Ws—& azniu B .”. . sinmx = mXcosmx
41) wHAGs: lim Im———=llm————=m

x=0 x

Caomigrdedr diflenw LwWLBHS
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43) LALESs: lim —

x—oo logx

y x co
lim = —
x-wlogx

: 1— cosx - 0+ sinx

* 1—cosx 0 lim = lim ——

im———— = —
42) wHLAES: lim X x-0  x? 0 L )
x50 Comrdgrdler alfenw LwWETLRSS = :nw i =3
x—
x 1
lim = lim

44) vLALRS: n_mmal —

Cardgrdler aifenwu LweTLRHS = Lim x = o
X=»00
secx lim 22% _ lim (Ycosx)
i == T tanx .7 (Sinx
o H_M-lm.l tanx oo 72 x5 ( /cosx)

45) wHIGs: lim (— rmv

x—0 \sinx X

. H H
—naA . Ilv ”8'8
x—=0 \Sinx X/ .

x-0 \sinx x X sinx

g 1 1 . x — sinx 0
__EA IIvH__EAIva.

Coamldgrdilen eflFiLig

. 1 1 . 1 — cosx 0
:EA IIVH:EA vnm

=0 \sinx Xx x>0 \ sinx + x cosx
: 0 + sinx 0
= lim - =—=0
x-0 \ cOSX + cosx — xsinx 2

1

40 wpiison: iy (2o

ComSgrdier eflfiLig

_.EAH 1 vl_. A e*—1 vlo
a0t \x e —1) ot\e*—1+xex) "0

= lim ( = VIH
T x-ot\e* +eX+xex) 2
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47) f(x) = x* + 3x aéarp snp9pe df
Snaws, WHpIb |
@ x=2,dx=0.1

(ii) x=3,dx =0.02

f(x) =x*+3x
df = f'(x)dx
df = (2x + 3)dx

(Dx=2,dx=0.1
df =7%0.1=07
(i) x = 3,dx = 0.02

df =9 % 0.02 = 0.18

dy 1 x dx
48) o craweaflen N-gb Ly LD s Bar y n  x
sews8EbCurgy gHud szl Qe y=x dy 1 sdx
Ovaan_-Eﬂm. Sipsp eawenflen Fpais logy = W?Qk ﬂ X 100 = = X Alu.ql X ﬂcOv
Bepuler - LLAG G aTasEsTBs. " i

" y-@én spedpn Aap= — X(x-@er sxddglifieny)
Xx=92 & x3=9 erefléd
49 Gpfiaia Gunyan LD fx) =a L(x) = f(x0) + ' (x0) (x — Xp)
wepepeb V9.2 -ér Cumpmu wHlieu F1(x) = 1
sefiliuner e gelllidenod srars. C 2vx - 0.2
| V9.2 =3+ 3 = 3.033

MQV mtheﬂ =0.4343 nﬂgﬁgﬂﬂ&@ .
log,101003 -éa Cpmymu wHOMLS
ST S,

f(x) = logqox

1
fl{x) = .u.n. logqoe€

x=1003 & xy =1000 erafle

L(x) = f(xg) + f'(x0)(x — xp) ‘

3
1000

109101003 ~ 3 + A v x 0.4343 = 3.0013
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(e LAUQUar Qup ifwwrer armdlur@aser)

1) syafiser Lppb SefsCaremaisdr
() Gspony i adj(A) = _iq
(ii) Cpiwry el A1 = = L adjA
(iii) Qelimss oenfl

AAT = ATA =1 goeg A" 1=A4T
(iv) adjA Qasr@R&sul’Lrd
1

A7 =+ — adj(A4)
jadj4|
A= Hfilwlnlnm.;a&kv
)\_aa.\.m_
(v) &ymofler a4l
A# 0 giey oar®
x = W & y= Du.
(vi) Q._!H_baﬁ | ewfl QVQEE,_& Ferum@
Eibpe

|A] # 0 womimys X = A"'B

2) soolil eTeRrEer
(i) Z =z eale z-g@m GGwemr
(ii) Z = —z cafld z-g@m sHUmeT eTam

(iii) L@ |x +iy| = /x? +¥?

(iv) oS&& arg(x + iy) = tan™?! ﬁm\.v

X
V) auiss LD &ITemred
(CH

Va¥ib=+ _ e L_N_N.a _

— zl+a _ _N_ p_

(vi) simen augaub: x + iy = r(cos@ + isinf)
(vii) wwrafler GaHmb:
(cosB + isin8)™ = cos(nB) + isin(nf)
(cos@ — isin8)™ = cos(n@) — isin(nb)
sin8 + icos@ = i(cos@ — isin®)

3) swaTUTLRWS

(i) @@ pow x +iy efld LHPFH =x — 1y

(i) @ wpon p+/q aalle wppm =p—./q

(iii) @ apavis /P + /q erssflsd wpp apewmiseir
SF—a. —fF+T. —p—7

(iv) uadgypiys Csreneas FLLRTLTLLIZE
DyeeSs Clspssel el g BB 0 sresllsd
PG QpvLs =

(v epeusiset Gl stasflsd b? — 4ac = 0

apaumIsaT Gloul LoP DD FLoLd eTesTisd
b? —4ac=0

apeEiser spLsser stafled b? — 4ac < 0

6.QaséL i Qupseafisd
() dens Aty Caame

w=F-d
(i) Seuudpa(Smay ddms)
t=7xF

(i) @,b,¢ o s Qasjsdr erafld
[@.p,¢]=0
(iv) @@ CarGsgnée e LUl
Canewrb

[d-¥|
12119

cos0 =

sinf — icos = —i(cos8 + isinB)
A<_=v W=GTEILIZ) @aﬂ.@nﬂ wling gpelb eredflcn
1+ w+ w?
w =1
[37) E@ SAMSEEES QoL UulL.  Qsrerd
cos@ = Joinzl
[mylinzl
(vi) Car® wHMIL SeTRSEESEE @enL LU L
Ganewrid
. o b
sing = Bl
(vii) @ PeaTwunren FariEErES

e . lda—dy|
Qe liul L gyb = Wi e
(viii) @m yeral, @m Qevewmunen Casn@Ear
sarsdlen gemamuae CausL§ sFwerur®
7?=d+su+tv
Slenamuapy CQeasLy sweiunr@®

(F—d) @x5)=0

smjeflwenr Fwerur@®
X=X Y= Z2—24
Iy my ny |=0
l, m; n,
(ix) Q@ yarsfadar, gm QeoaaGar®
sarsdlen smaTwNG QausL i Fwerur@®
=d+s(b—d)+tv
gosTwuespy CQeusLy swaur®

F-a)-((p-a)xv)=0
srfefluer FwerUTE
X—Xy Y=Y Z2—Z%
X=Xy Y2—=V¥1 Zx—Z1)|=0
Ly m, ny
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(ix) wearp yaralad(emGsnyomvursmar)
sasflen giamemwua® QausLF Fwerun(
F=d+s(b—a)+t@E—a)
Sloearwespn CeuiLy Fwerun®
¢ -d)-(B-ad)x@-a)=0

snjlefler Fwerun(

X=Xy Y=V Z—Z ,
X=Xy Y2—=V1 22— 21| =0
Xz3—X1 Y3—V1 Z3—Z

)} EQ&E&E—.&_WE& LwerLTRE

@) smiey m == f'(x)

(ii) Qar@Car iy er Fwerur@
y—y1 =m(x —x;)
(iii) QerGasriger &Fwerum

y—y1="(x—%)

[ (V) @ cuaaTauamrsE@psE QentulL

Ca&memrid

mq—

tanf = _
H+3M§N
(V) @ aueneneuenyser QEmk@GSHH5NSE

Qeaul iy &QsNeTEHWD o aflcd
mims,; = -1

(vi) Cséas fleoeriydrafl smenr
f(x)=0

(vi) gpub emiy(Qu@ed F#miy) ereafld
f[(x)=0

(viii) @praigb Friy(@epyd &miy)
ffx)<0

(ix) @Lesemips Qupwd erafld

N
f'(x)<0 a!een_nwuldm

x2
(x) @Lesemihs puod ﬂmb&
f'(x) 2 0 ooz nuN = +ve
xi) (¢, f(c)) aumarey wmHp yerafl
erefl
f'c)=0

9) Dn:ga Eﬂ-&ﬂmu&m_&- EEQE:@&A—
() n-@rreL eraw erafld

7 %

2 n—-1 n-3 | =
._,mmnax&n .ﬁoo%k&xn X X...—X—
. ) n n-2 T2 2
(i) n-gpeop erewr erefléd |

/

7 %

._.m_.n:‘«&.ﬁu ._.QCma.x&HH I _x h wx:.Wx_
5 : n n-=-2 3
(i) smor GQzrensuil_d :

x"e“dx=
0
(iv) x-siFene SeufBb Uyl

n!

n+l

a

b
kn._'v;&n

(v) <-ﬂ!.wm=.& .@.QFE@E urdiy
A= ._.H&\

(vi) Eﬁﬂlq%&E:ﬂ: Ly

c b
=|[ Sy ax|+|[ £ (x)dx
(vi) @en it Lipiy

& = ._.A.F =2 )dx ...!&8@_, A= _.AH_ - x,)dy

(vii) zen DjaTqy

b d
V= a_.wu dx geeg V= N_.au dy

1. flapsae) uraidasdr
() p(x) Peppse) flaps smiy ereafld
P20 & ¥px)=1
() f(x) Papsse; Stz smpy erefiéd
f@=208& [ flodx=1
(i) F(x) gelluy ured smiy
X-gefiys swambiy wrf aeafld
F(x) =P(X <x)
X-@sm_§ sweaimbiy wrgl erefld
F(x) = [ fwdu
(iv) sexfls erflfuntssd
EX)=Zxp(x) & E(X) = [ xf(x)dx
E(X*) =Y x*p(x) & E(X?) = ["_x2f(x)dx
- (Vegrefl X = E(X)
| (vi) uraipurg.  V(X) = m.hkwu — (E(X))?
, (vi)) QuiCenrell LTad (FEEUY LTaud)
_ p(x) = ne, p*q™*; x=0,1,2,..,n
’ synefl =np & urepur= npq

(Please use this material only for Slow Learners. Thanks). Prepared By Mr.A.Irudayaraj, Don Bosco HSS, Gandhinagar, Vellore-6 (94436 87520)
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12 sefigefiue (VOLUME-II)

(Only for Slow Learmers / 5 mark question and answer)
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1) LLEsE alLd 5 Qeud SLLamarenwull T 1 > T3 a0 V) efifwepu uary
vuau@sh sewd Zs Qer Sy +5 sT 3T 3 3l ol 1 0 @er erHiwep = 0
aarp Qrudig i) So_qu uary . S 1 @ér afiweamp = 4
i) vArpEn ey i) Gyl LTy 3| 3| 40 i cBfRR=
iv) swafll uawy V) afifwepl Lary 4| 4| 0 1| 2| 3 . .
SpAwapeop sflunrés. b o el e e 3 Qe afjuep = 2
i) vforpgl vy - e 4 @er efjvenp = 1

fli) CGeriyl uery - c&wenn

9
*11 ! 304 . iv) sveall egiy =1
1 1 3 4 5 9 ;

2) A={134,59} @ex By X1, wép Qoudig 3 e 3 O 2 T V) fnacpc ueiny
i) sieoLqu uarny i) uAvrppl uery 3 3 1 5 5 3 1 o affwenp = 1
iii) Gyl veawy iv) Fweafl uay 3 P& afiwep = 4
V) afifwenpll UL &DEEBQB 5 5 4 9 3 1 i a

sflurféa. 9 9 5 3 1 4 4 Q& afjveap
i) Sl ueky - oawenl 5 S afijoep = 9
i) uforppl uey - cdve . 9 Par wffwenp = S

fli) Cejliyl uemy - oawve

i) SeLal uary - o arend

x x
— . — * . - . ]
3) ?\l‘:.« ‘L.xmh ?L creus. i) uforppl LTy - 2w v) efifwepl e gy
adiugy Sefll Qumbsd aard CQandra. iii) CGeyuyl uery - o awew ?_I &Ip.
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- g ) sl udry iv) swefll uary - o.awenw L el
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4) mn@r?w s, A -~ Sy *
Saagorp aerupdsiu®fpg.
x*y=x+y-xy adld

*aan A & By ) elq uary

i) oeLeu uery - o emenw

ii) vflorpgl very - 2 &Tenw

iv) sweflls uamy
swafl o puy e = 0

V) erdljwenpl uskry

i) vfwrPEL vany i) Cofiyn uery iii) Cesyuyl uewry - T x @er ahfuep x ' - =4
iv) swafll uary V) afiveapt ey I—x

S Buapenp sflurféds.

5) Qar@ésuul L sawgfear SH Gaamb . .

Qrucrarg ) soLqU uary i) SeLqU uery - ceTenw iv) swelll Ly

i) vfvrpt vary i) Csjuyn uary
iv) sodld vary V) affoeapl uary
Euapenp sflurfds. .

m*n=m+n—mn;,mmnelZ

i) uflompgu uery - oaTenw

iii) CGsjuylw uery - o awTeo

swefl e gy e = 0

v) erdlfoenp’ Uy
adijveap 2piy Foew

6) 42) =(p = @) = pA-q aaumpd
sfiunfésayb.
giey:

p

PA-g

T

Ml |H4] a
mim|-|m

T
F
F

D (@—q < (—p-q) eaugy Qodiod
SboF prarun®d Sdeog péswusldren

saumgd snews.

8) (Prg)a—(pvyg) edug Qodiod
Sbey wrearumd swogm Hésuddao

Shray: SAUMSE STEE.
pla| b | -o | JF |@r0etr-a giey: _
TIT|] T F T T P|q mp pvq | =(ve | (Pag)a—(pvy)
T|(F| F F T F Tt T 7T F jis F
FIT| T T T S TIF| F T F i F
F|F T T F itk b FIT!| F T F ; F
A A-(pVq) aaug FIF| F F T SR

Bl s wiblerenin

(pAg)Aa=(pvyq) eaug resun®

9) Amﬁ<ﬁv>lﬁvlvﬂ ererug Godiwd Sdeg

prearun(® Sbey fbsullaas aaumssd srava.

giey: Py
TT& wn i mn._u& P
T[T T F F St
TIF| F F F e
FIT] F [T I e
FIF| F T F e ;

ATu vg)a Jﬁv —>q ereuug DEEE.E

10) ywonriser f: (1)
—“(PAQ) = —pVq adumps

sflurjé&sajb.

Siep:
P a|pag P | Q| mpVNq
T|T| T | F | F|F F
T|F| F | T F | T
Fl T | F [T T |F T
FIF| F BESmeS] 17 | 7 T

~(pAqQ) =-pVvaq

1) pog=@->qA(@Q-p) aap
sUOMerOTer Laweou N lds.

Siey:
ln vIL u.:; q—p c..:_:s....ﬁ
T|T T T | T 3 4
T|F F F B T F
FIT F T F ] 2
F|F T T T T

P—oag=(P-9A@Q—p)
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=1

12) (~p—o AP e q) Hdar QoL camarenwl Senovdsajb,

=PoDAPCQ

J
=
=

=p—r P

n|m|m(n|HA|H [ |H]|D
n|m|A|A|| ||| L
||| [T ||
—|A AT ||
m|A |||
—|=|[n|m]|n|m|(=]|=]| ]
nf-|n|n|n{nl4

13) p = (~qVr) = —pV(—qVr) aduams Golien i aimarawl

vweru®SH Pipeys.

plalr|-a|-evr|[ B _ovy |-P|[-PVavD
T(T(T] F | T T F T
T{T]F| F| F F F F
TIF(T] 7| 7 T F T
TIF|F| T | T iix F T
FIT|T] F | T T T T
F|T/|F F F T T T
FIF|T| T T T T T
FIF(F| T | T [ar T T

p—(—-qvr)=-pVv(aqVr)

14) CGshuy &i :pv(QVvr)=(pVvVg Vr aear QuoliwiL cuenesrenuit
uweru@®sS fapd :

Ii

n|n|n|m|=4|=|H]H4]|O
n|n|=A|=|n|n|4]4|a
MiA[M|=A||A|n || =~
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